Winiec/ SPARE PARTS DIAGRAM: SEAT TRACKS

R A C / N G

610-15 M4 Flat

head screw, 15mm 610-12 M4 Flat head screw, 12mm

342-P Stern end stop port (shown)
W 342-S Stern end stop starboard

341 Bow end stop

325- Seat track (pair)

335- T-Bolt, 30mm-50mm

331 Seat track wedge

340 Seat track bushing

*Click on any PART # to access in web store. 621 M5 Flat washer
624 M5 Wing nut


http://store.wintechracing.com/products/m4-flat-head-self-tap-screw
http://store.wintechracing.com/products/m4-flat-head-self-tap-screw
http://store.wintechracing.com/products/end-stop-bow-end?variant=1301623724
http://store.wintechracing.com/products/m4-flat-head-self-tap-screw
http://store.wintechracing.com/products/seat-track-end-stop
http://store.wintechracing.com/products/seat-track-end-stop
http://store.wintechracing.com/products/seat-track-complete-pair
http://store.wintechracing.com/products/seat-track-t-slider-bolt
http://store.wintechracing.com/products/seat-track-wedge?variant=1301623664
http://store.wintechracing.com/products/m5-seat-track-bushing?variant=1301623688
http://store.wintechracing.com/products/m5-flat-washer-seat-tracks-seat-riser?variant=1301630612
http://store.wintechracing.com/products/m5-wing-nut-seat-tracks?variant=1301625020

